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1. What is the equation of a line which passes through (4,6) and has gradient = -2
a) y+2x+14 =0
b) y+2x-14=0
c) 2y+x+14 =0
d) 2y+x-14=0
e) None of these

2. What is the equation of the line which passes through (1,-2) and is pefpendicularto 3x -4y
+7=0
a) 3x+4y+2=0 b)3x+4y-2=0 c)4x+3y+2=0
d) 4x+3y-2=0 e) None of these

3. Calculate x in this triangle (give your answer to 3 s.f.)
a) 0.749 A em
b) 48.5
c) 415 "3
d) 38.3 {2Lem
e) None of these

4. Which graph shows y = (4 — x)?(3 — x)
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5. This car of mass 1400 kg is resting on the slope which makes an angle of 10° to the

horizontal. Calculate the Normal reaction. Take g = 9.8 ms™*
a) 13500N  b)2380N  ¢) 13900 N d) 79000 N e) 1380 N

6. Look at question 5. Calculate the frictional force.
a) 13500 N b) 2380 N c)13900N  d)79000N  e)1380N

This graph shows the graph y = f(x).

State the co-ordinates of A after the transformation
7. f(x)+2 I
8. f(x+2)
9. 3f(x)
10.1(3%) 3.9
11. —f(x) /
12. f(-x)
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For each question in 7 -12:
a) (1,1) b) (3,-1) c) (3,3) d) (-3,1) e) None of these




